Mathematics
Class – III
Ritu Soni
Exercise – 4.4
A. Fill in the blanks.
1. 3000 m = 3000 ÷ 1000 = 3 km

2. 6457 m = 6000 m + 457 m = 6 km 457 m


B. Convert into kilometres and metres.

1. 2009 m = 2 km 9 m
2009 m = 2000 m + 009 m
= 2000 ÷ 1000 + 009 m
= 2 km + 009 m
= 2 km 9 m

2. 4005 m = 4 km 5 m
4005 m = 4000 m + 005 m
= 4000 ÷ 1000 + 005 m
= 4 km + 005 m
= 4 km 5 m

3. 1500 m = 1 km 500 m
1500 m = 1000 m + 500 m
= 1000 ÷ 1000 + 500 m
= 1 km + 500 m
= 1 km 500 m

4. 3921 m = 3 km 921 m
3921 m = 3000 m + 921 m
= 3000 ÷ 1000 + 921 m
= 3 km + 921 m
= 3 km 921 m

5. 9480 m = 9 km 480 m
9480 m = 9000 m + 480 m
= 9000 ÷ 1000 + 480 m
= 9 km + 480 m
= 9 km 480 m

6. 9812 m = 9 km 812 m
9812 m = 9000 m + 812 m
= 9000 ÷ 1000 + 812 m
= 9 km + 812 m
= 9 km 812 m

Homework

7. 5209 m = ___ km _____ m

8. 7002 m = ___ km _____ m

